

### FOR 474: Forest Inventory Techniques

Course Overview:

Principals of a Forest Inventory

• What Can Monitoring Tell Us?

What Sampling Designs Should We Use?

How Do We Analyze Monitoring Data?

How Do We Monitor at Landscape Scales?

How Do We Monitor Forest Disturbances?

• Why do we care about Standard Error?

"The person ho knows HOW to do the work will always have a job ... and the person who knows WHY ... will be his boss."

### Forest Inventory: Principals

Accurate forest inventory data is necessary for good forest management and vice versa

The lower the commercial value of a forest, the higher the cost to conduct an inventory

Occums Razor: "Entities must not be multiplied beyond necessity" - the simplest techniques/solutions are often the best

The simplest techniques are often the most abused

### Forest Inventory: Principals



Forest Measurements deal with the measurement of features (diameter, heights, etc) that make up a forest.

Forest Inventory is the process of measuring and analyzing characteristics of a forest. This requires knowledge of why particular forest metrics are measured and how they are used to inform management.

Forest Inventories are often conducted to generate defensible data for use in planning silvicultural treatments or control of forest operations.

A plan is a systematic set of tasks that maximizes future benefits, while control refers to actions that keep the plan on track.

New Zealand Forest Service (1998)

### Forest Inventory: Principals

-



Example: "A unit that currently only supplies firewood, might be able to supply poles."

Planning based on a forest inventory may lead to a management rotation that harvests these poles, leading to a financial gain for the landowner.

Control preserves these potential assets. This could include thinning to ensure potential pole trees do not get suppressed.

1

Planning and Control must be based on quantitative data!

New Zealand Forest Service (1998)

### Forest Inventory: Don't Forget the Costs

The costs of performing an inventory must be weighed against the potential financial gain from the plan.

A \$10k inventory is not worth the cost for \$10k of pulp ...!

Make use of any Prior Information, whether past cruises, soil surveys, or remote sensing / GIS data.

Consider the cost of access & the cost of measurement. If access \$/measurement \$ is high, then extra measurements will get you a higher return on your costs.

Gain of the inventory is a function of the purpose, the precision required, and the measurement cost.

NA.

New Zealand Forest Service (1998)

### Forest Inventory: Types



onal / Regi onal: (e.g., US FIA program) - used for longterm strategic planning

ndividual Forest: Often used for medium term planning

Stand Inventories: Often for short-term specific purposes such as pre-harvest. Pre-harvest inventories are usually conducted within 2 years of the harvest date for the purpose of *planning* logging operations, marketing, sales, workforce, and cash flow.

Permanent plots are re-measured (aka monitored) to validate silvicultural predictions



New Zealand Forest Service (1998)



### 19

When preparing an inventory plan/report the objectives should be well defined and include a statement of: 

- 1. What information is required
- 2. What precision is required
  - 3. Why the data is requested

### Example:

An inventory to estimate standing volume to within 15% of the total volume per unit and within 10% of the total forest value, both at the 95% confidence level. 1.1

### Forest Inventory: Population



100

- Ownership Information
- Accessibility and Transport Data

Any prior data should also be included such as data from prior inventories, details of logistical problems, access, deck size, etc.



Fiel	Field Sheets: The Usual Suspects												
OVERSTO	RY TREE	DATA, UN	DERSTORY	TREE DATA	SITE INDEX				Unive	raity of Idaho E	permental	Forest: Fuels Mo	nitoring Program
u	1			De	vation			Crown class	code				
50	ind				late			Dominant	•	Plot center o	ordinates		~
Pip	4.9			Col	ectors			Co-dominant				(A)	Site Info
Habita	it type			Stope p	slacement			recredate					
Asp	ect			Fuel Madel		bottom, low, rid	mid, upper, pe	Suppressed		Overstory	1/10sc = 37	.2h radus	
% si	kpe					-				Understory	1/100sc = 1	1.0h radius	
_				<u>ov</u>	ERSTORY	_			_		UND	RSTORY	
Tree #	Species code	DBH (In)	Total height	Crown base height (ft)	Crown class code	two (L) dead	Damage Code	Notes		Species code	Count	Mean beight (11)	
1 		(B	) Vege	etation	Info			) Note	Spac	:e			0-19°dbh
													2.0-3.9 dbi

### Monitoring: Why and What Can it Tell Us?

Definition: The process through which repeated observations and analyses can evaluate the condition of an object



### Monitoring: Why and What Can it Tell Us?

Adaptive Management: The process where activities are implemented (with uncertainty in their effectiveness), the response of these activities are monitored and analyzed, and the results drive future decisions.





Terry Spivey, USDA Forest Service, www.forestryimages.org

### Monitoring: Why and What Can it Tell Us?

Adaptive Management: The process where activities are implemented (with uncertainty in their effectiveness), the response of the activities are monitored and analyzed, and the results drive future decisions.



### Monitoring: What Can Monitoring Tell us?

Inventories: Only provide a snap-shot of how much is present Monitoring: Allows the measurement and analysis of "rates of change" AND how that information impacts the management objective



• Mortality => Volume of trees initially measured that died and not utilized

• Ingrowth => Volume of trees grown after start of the growth period (e.g., seedlings)

• Gross Growth => change in total volume of a stand (including mortality)

- Net Growth => excluding mortality
- Productivity = Net Growth + Ingrowth



### Monitoring: Why and What Can it Tell Us?

### The Operational Monitoring and Research Continuum



			-













# Sampling Design: Representative Measures





As with the different sampling methods, these measures are only appropriate in certain cases



Johnson

# Sampling Design: Representative Measures

Stanger S. A. Given the wide variety of metrics that can be used, the metrics should exhibit the following criteria (Waugh, 1952):

- 1. Robust to repeatable observations; i.e. calculating the metric multiple times should produce the same result 2. Easy to understand and interpret
- 3. Should make use of all, or at least the main trends of all the data, in the distribution
- 4. 5.
- Should not be unduly influenced by single outliers or so called rogue-values Statistically stable (value for group of samples reasonably similar to value of another group)

Johnson

### Sampling Design: Representative Measures

4

3.

There are several ways that we can describe the most common occurrences of data. The different measures you will come across include:

1. The Arithmetic Mean 2. The Median The Mode The Quadratic Mean The Geometric Mean 5.

- 5	ampling	Design:	C The A	rithmetic Mear	h
		Samplas			
2	IN	samples	This i	s the most comm	only used and is
3	1	3	also d	alled the mean o	r average.
4	2	4			N
5	3	10			$\sum_{n=1}^{N}$
6	4	2		Population:	$\mu = \frac{\sum_{i=1}^{j} y_i}{\sum_{i=1}^{j} y_i}$
7	5	8			
8	6	18			' N
9	7	5			11
10	8	17			$\sum_{n=1}^{n}$
11	9	9		<b>•</b> •	$\sum y_i$
12	10	10		Sample:	$\overline{\mathbf{r}} - \overline{i=1}$
13					$\lambda$
14	=AVERA	AGE(B3:B	12) = 8	.6	n
15					



## Sampling Design: The Arithmetic Mean

When dealing with per unit area data collected in stands of variable area we need to use a weighted mean

	C13	• (0	<i>f</i> <sub>s</sub> =SU	M(C2:C11)	/SUM(A2:4	<b>\11</b> )
	А	В	С	D	E	
1	Stand Area	Mean V per Acre	A*V			
2	40	202	8080			
3	35	170	5950			
4	42	194	8148			
5	37	260	9620			
6	41	170	6970		$y_w$	=
7	39	190	7410			
8	20	204	4080			
9	35	186	6510			
10	28	150	4200			
11	30	156	4680			
12						
13		188.2	189.2			

### Sampling Design: The Arithmetic Mean

The mean of both your X and Y data should produce a X-Y coordinate that is a real value on the function fitted to your data





### Sampling Design: The Median This is the value that occupies the midpoint (M.P.) value in a distribution of data A13 **-** () fx =(COUNT(A1:A11)+1)/2 Δ В С D E F $M.P. = \frac{n+1}{2}$ 7 9 10 Median = 98 6 =MEDIAN(B1:B11)

S	ampling	g Desigi	<mark>n:</mark> The I	Mod	de
	This is t data	he value	that app	bear	most in the distribution of
1	1	78			
2	2	89			
3	3	92			
4	4	94			
5	5	96			
6	6	96			Mode - 06
7	7	124			NODE = 96
8	8	135			
9	9	148			
10	10	159			
11	11	201			
12					
13		=MODE(B1	:B11) = 96		





# Sampling Design: The Quadratic Mean



### Johnson









### I CARANTE Measures of Dispersion

# 

Measures of Dispersion define the amount by which individual data points vary from the Measures of Central Tendency. The term variation describes the differences that exist in data that make up a population. Common measures include the Variance, the Standard Deviation, the Coefficient of Variation, the Covariance, and the Standard

Error of the Mean.

 $\sigma^2 =$ Variance and Standard Deviation:  $(x_i - \mu)$ N CV = 100oefficient of Variation: Standard Error of the Mean:  $SE_{\bar{x}}$  $\sum_{i=1}^{n-1} (x_i - \overline{x})(y_i - \overline{y})$ Covariance: i=1 S ... = N - 1 I I I

### Why we care about Variability?

• The amount of variability influences our confidence in management decisions

### $CI = \bar{x} \pm t \times SE$

- Can we defend/justify our decision
  Potentially large financial implications

Where is this all headed?

### Why we care about Variability?

What if we wanted to know the maximum potential profit from a harvest operation?

What must we consider?

- · Mean and variability of volume
- Composition of merchantable material (species mixture)
- · Value of individual material (price for species)
- · Harvest and delivery cost

### What if?

- $\overline{x} = 1,600 ft^3$  per acre; with  $SE = 110 ft^3$  per acre
- Stand is 120 acres
- Stand is 40% ABGR, 30% PSME, 20% THPL, 10% TSHE
- ABGR \$170/mbf, PSME \$290/mbf, THPL \$350/mbf,
- TSHE \$310/mbf
- + THPL and TSHE go to a mill 75 min away, w/ 30 min to offload
- ABGR and PSME go to a mill 45 min away, w/ 30 min to offload
  The truck cost \$75 per hour to operate and can carry 5,000 mbf
- The truck cost \$75 per hour to operate and can carry 5,000 r

With 95% confidence what is your expected profit?

	$Maximum = \overline{x} \times k + t \times SE \times k$								
	Were $k$ = expansion factor (acres × value)								
	ABGR PSME THPL TSHE								
	$\overline{x}$ = 7.68 mbf/acre 5.76 mbf/acre 3.84 mbf/acre 1.92 mbf/acre								
	SE= 0.528 mbf/acre 0.396 mbf/acre 0.264 mbf/acre 0.132 mbf/acre								
Gran	d fir								
1,045	$mbf = 7.68 \frac{mbf}{acre} \times (120 \ acres) + 1.96 \times 0.528 \ \frac{mbf}{acre} \times (120 \ acres) $ 1,045 mbf $\times \frac{\$170}{mbf} = \$177,656$								
Doug	alas-fir								
784 n	$abf = 5.76 \frac{mbf}{acre} \times (120 \ acres) + 1.96 \times 0.396 \ \frac{mbf}{acre} \times (120 \ acres)$ 780 $mbf \times \frac{\$290}{mbf} = \$226,200$								
West	tern red cedar								
522.9	$mbf = 3.84 \frac{mbf}{acre} \times (120 \ acres) + 1.96 \times 0.264 \frac{mbf}{acre} \times (120 \ acres)$ 520 mbf $\times \frac{$350}{mbf} = $182,000$								
West	tern hemlock								
261.4	$mbf = 1.92 \frac{mbf}{acre} \times (120 \ acres) + 1.96 \times 0.132 \frac{mbf}{acre} \times (120 \ acres)$ 260 mbf $\times \frac{$310}{mbf} = $80,600$								



